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& B0 (mm) SEFE (m/min) BE (kg) FMEE (ko)
AHTOL=TL W17,900 X H4,000| 3 3,400 300 &
ABT17Y W4,600x H14,400 - 2,500%2
L3 20,000 9~90 120
ElES 22,000 §E§:§3 250
s 22,000 0~90 120 -
A% 22,000 0~90 250 MAX1,000
INRA (BRI ) 22,000 6 450 300
1NRV5 22,000 0~90 250 MAX1,000
29— (BL23tR) 22,000 6 800
APY—=IHAX 43 MAX530inch 43 MAX530inch
13h8~10 22,000 0~90 250 MAX1,000
JR12~13 22,000 0~90 250 MAX1,000 & A% (kg) Iy A—4ASEYE
1516 22,000 0~90 250 MAX1,000 T s etk 16,000 10 180 800 Bym0 BX18,000
TYN=HRUI V51 22,000 10 380 - TOE=TLRE—H— 2,000 3 100 800 BYReT H|AS5,000
I\b18~19 22,000 0~90 250 MAX1,000 F=F=51F 22,000 10 380 - AE—F 15m/min
~ N F=F=57F3
ES 22,000 0~90 120 (_x’$§3¥%> 22,000 10 380
FUIVE 22,000 10 120 - HARYY3YS M ~4 22,000 10 240 15,00
REH (EF) 11,200 5 250 - ERE *0
11,200 - - - REE 1,200
REH (TF) 11,200 5 250
11,200
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